OJZPI A 42 4 ax—2=09] 9t 2o x =-20]3, x>+ 3x+b=0
o g o] = -1 A, ab O] G FoHA?

®-2 @-1 B0 @ 1 ©)2

B ,

¥ +ax-2=00°] x=-25 thdolH,
4-2a-2=0 .. a=1

¥ +3x4+b=09 x=-1= Yo5}H,
1-3+b=0 .. b=2

..oab =2




o1

29

of &

@ 6

B

x> - Vix+1=09 2ol ao|BZ




3. HAAZE 2 =x-x+4Eax’+bx+c=029 B2 1F 0,

a+b+co P27 (Fa>0)

3P+ 2x=x2—-x4+4S 22 +3x-4=0
La=2,b=3,c=-4
ca+b+c=1




OIAFT A X% +ax—20 =0 ] g Zo] 5 0]
3x+b=02 2L o, a,b 9] 7 77 FoHHAT

D a=1,b=44 @ a=1,b=-44
@a:—l,b:—44 @ a=-44,b=1
® a=-44,b= -

B

x=55 x>+ax—20=0 9 s}
254+5a-20=0..a=-1

¥ -x-20=0,(x-5)(x+4) =0
wptA o2 g 22 x = -4 o]t}
x=-452x-3x+b=0°] teiatd
324+12+b=0

b= -44




